CMPUT 355 Quiz 1 Marking Rubric
Winter 2025

Question 1 (4 marks)

+0.5 for each correct answer, no partial marks given.

Question 2 (2 marks)

Row 1: +1 mark for getting every parent correct.

+0.5 marks if the parent of every element in a’s component is set to b.
+0 otherwise.

Row 2: +1 mark for getting every parent correct.

+0.5 marks if the parent of every element in a’s component is set to b.
+0 marks otherwise.

Question 3 (3 marks)
+1 mark for getting the correct nbr offsets.
+1 mark for mentioning that we are checking for the offset/neighbouring stones.
+1 mark for mentioning that we are checking if the neighbours will be out of bounds.

Question 4 (3 marks)
+1 mark for mentioning that we are looking for black stones.
+1 mark for mentioning that we are checking for neighbours.

+1 mark for mentioning that we are specifically looking for any black neighbours (as
opposed to all black neighbours, all neighbours, etc...).



